B % %2 Bl 8 2 A R
BEL SN EERUOOEEHBREX (F5IHE) 4 JIRKEK
BES #H VE%7E - MHE & &
# =2 B ] C:2
1 |EREXE 1] =
2 KK YTFHEEE 30| & |FAYRMKR 30
3 KKYTHHE 30| & |FAYRMKR 30
4 REY - #5¢€8 35| [ | FAYRMEKX 35[E
5 EFNE (FEERLE) 21| BE | FAVRHMEX 21EE
6 BEXIEGSNER 55.6| h
7 Loy (BEEE) 21| 8
8 oY —hASHRE 3 &
9 oY —hASHEE 3| A&
10 A Fxa—T 300| kg |MEE
1 |EEExE 1| X | HERZEBE+HREEEE
12 HBEREEE 1] =
13 RIGERE 1] ®
14 | BRI 1| X |ERFXE+EESEE
15 |—RERESE 1] ®
16 |EEAME 1 X | BERE+—BEERES
17 |CHEHRANE 1] =
18 |ZAEXE 1 X




